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QUESTION 1
Which of the following statements is correct regarding virtual router?
A. If multiple routers are configured with the same virtual router ID.they all associate to the same virtual router.

B. If multiple routers associate to the same virtual router, they must be configured with the same virtual router ID and at
feast one virtual IP address.

C. If multiple routers associate to the same virtual router, they must be configured with the same virtual router ID and
virtual IP address.

D. If multiple routers are configured with the same virtual IP address, they all associate to the same virtual
router.

Correct Answer: A

QUESTION 2

Which of the following statements are correct?

A. Both TE FRR and VPN FRR are used to protect tunnels, and therefore they can replace each other.
B. After VPN FRR is deployed, the end-to-end service convergence time is shorter than 1 second.

C. TE FRR Implements quick traffic switchovers if a PE becomes faulty.

D. VPN FRR implements quick traffic switchovers if a PE becomes faulty.

Correct Answer: B

QUESTION 3

Administrators can change the priorities of default zones in the firewall as required.
A. True

B. False

Correct Answer: B

QUESTION 4
Which of the following statements regarding DIS election is correct?
A. When the priority is the same, the router with higher IP address will be elected as the DIS.

B. When a DIS fails, the backup DIS will take over.
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C. The IS-IS router with the highest priority in the whole broadcast network will be elected as the DIS.
D. DIS election is configured manually.

Correct Answer: ABC

QUESTION 5

After the server receives the PADR sent by the client, which message will be sent as the response and to identify the
connection?

A. PADS
B. PADR
C. PADO
D. PADT

Correct Answer: A
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